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��  أ	�� و��� ��                   :  
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1(   ����a و  b ������	 �
3:  ���  �  ��د 1a− < < 1    و   − 4b< <.   

a:    أ��                   b+    ؛   a b−    ؛   
ab

b
22     ؛     1a − .  

7   :   	�د إ!�رة ا���د )2 2 5 3−.  
  

�����3  
  

  : �*�� ����  ABC                     (� ا�)�' &�%$#
  

                  AC BC   و  =3 2=.   

             ��+�       M �� ,-�% [ )AB  و  N �� ,-�% [ )AC  

              ����       : ( )BC//( )MN   و   MN 6=.  

:  أ	��   )1
AM
AB

  .AN   و  

2(   ��+�E �� ,-�% [ ]AC ����   :1AE =.  

):      ��� أن         )MC//( )BE.  

                 

 �����4  
     

                  ABC �) ,
  : ����  �A*�� 12�3 ا�0او

    AB 2   و   =2 5BC =.  
AC:   ��� أن   )1 4=.  
2(  1�+�M �� ,-�% [ )AC ����  :1AM =.  

5BM:     ��� أن   )أ =.  
  .  12�3 ا�0او
, BCM  ا8+7+6 أن ا�5*�� )ب

  .�sinBMC:   أ	��    )3
  

  

     ا���7-�ة                                             �59;�, ��ارس ا��95  
   ـ�تــــــ ا��
��A  : �دة  ـــــــــــ       �                                                  2011 :�5ــ��ا� ا>�+��ن ا�5;	�

 8ــــــ��+�ن:      �ـ�ة ا>%�9ز                                                        ي إ��ادي  �D%;�*��*,ا   :ا��5+ـ;ى  
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                  x ,���7� ��G دة�	 ,
  .  ��3س زاو
  

1( �  ��
 �� ��:  
2 2 2(cos sin  ) 2cos  .sin  2A x x cos x x x sin x sin x= − + + +  

2 21
 3 18 tan 22 3 72
tan 68

B cos cos= + ° − ° + °
°

  

sin:   أ	��    )2 x    و   tan x  أن H5�� إذا     :
1

cos
4

x =  

 �����6  
�+$� ا�)�'                   %�JKا.   
  

  :   ا�+���,                	�د ا�����8ت     
  

                 �DOC    ؛  �TDF   ؛  �DTC.  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

                  
  

    
   

 


